RS>3a>v—h— HUREHIASE

novotechnik

Manual Position Markers for rotary sensors Sedle Gruppe
Z-RFC-PO1/ P02 / P07 / PO8 / P41/ P47 Z-RFC-P30 Z-RFC-P03
¢28 A Indexierun 58 3
3‘ @8 © 18 ﬂ indexing o ™~ g
I l L ~ /S—T—;\ _I_Nﬁ__ ‘[ | i S
Vel +offle !
AN - ﬁ, INGIIRSA Z-RFC-P04
P41 ¥ ! $3.25 (2x) } 55 14
P« % pei/f ~ t;:—;—'] 14 |
m;;;g Z-RF)C ?I!’07(;lr308: e 19222 11
recommended shaft-@ M5 A—A N N|S i

Z-RFC-P01/-PO2DI5E
SvIMN=-T3a> (#EE)
Recommended shaft setup

. bam

+0.05

<
~
o

FoIAEAFE
ElERYO0RR—IL
Cross hole for
fixation with

locking pin

A>FTYIZRA> N | Index position

1A=V FIR

Installation instructions

2ARDRSMAx20
~L2300Ncm
M5RSEUCLBTSTIRI> N
BRANMNLI120Ncm

Axial mounting with

2 screws M4 x 20, max.
tightening torque 300 Ncm
Radial mounting with
threaded pin M5, max.
tightening torque 120 Ncm

1> A=)V FIR

Installation instructions

2RDRIM3 %8
A NLJ200Ncm

Axial mounting with
2 screws M3 x 8, max.
tightening torque 200 Ncm

1>FYIRARA > Index position

1A M=VFIR
Installation instructions
AR BB TEE W,

BIR(E, BRRUHEERIZ VRSB TT,
Weicon AN 306-30, BULRETHEBHARS (H#£52)

Avoid mechanical load. Glue in
place with anaerobic glue e.g.
Weicon AN 306-30, in not
magnetizable material (recomm.)

EERRIE R P
T —HUFT.

v

with Sensor Center Axis

1>FYIZRA> b | Index position

Z-RFC-P23/ P43

SYIMN=-T3> (#ELE)
Recommended shaft setup

N—h—ZEOHIBTENTEET,

MARSORENUODMEY—D—ZEETEDLIIC,
ESREPD N HBENMHERENTNET . RERDITIT

SPINC

18

HESUE
recommended shaft @

1A=V FIR

Installation instructions

RUAAEESMARERLEZSSTILRI> N
BRANLY100Ncm

Radial mounting with

Installation instructions

RSOEEEGFEIOG I TV TOBEE,
fIiB Y- 0EEE RS EICEESSIL%
HMKBEIDLET .

Directly screwed or secured
by mounting nut.

It is absolutely recommended
to secure the position marker
against rotation.

vs-3-9
marking

Rotation Axis of Magnet aligned
with Sensor Center Axis

1FYIARAV N
Index position

BRANVI/&RX TNV

Z-RFC-P16 Z-RFC-P18
Z-RFC-P17 Z-RFC-P19
Z-RFC-P20
M8 12 ... 16 Nm_ 6 Nm
M10 12...16 Nm 10 Nm

A\

A\
i

T
o

74--%)

B

~ 0.5 Magnetschutz

f— threaded pin M4, max.
May be without treatment, but tightening torque 100 Ncm
a flattening is recommended
at screw pressing point for fixation {>F9HARASI | Index position N g o
with threaded pin
SO~
1A=L FIR M AL —HUES o Z-RFC-P16* Z-RFC-P18

~ 0.2 Magnetschutz
- protection of magnet

- protection of magnet .
g : @ 2. j m
R 2l ) T g L2 - :
= H 25—~
|- kj A A marking
e 25 ' L Bu st'u_]
(314) (32)
Z-RFC-P17* Z-RFC-P19
~ 0.5 Magnetschutz L Hag[::;ziho“f‘fnagnﬂ
- protection of magnet -1
[ ] ), 2 S — "f_a_\
- 2 { P % vz v?k 25-3-1
i Nt I 1
5.3 :M\_ 252 i—w—-_”—‘_'- SW13 —
(303) (308
*) HOHESHIHIFERCR2FETUE
I-N—EEHEEET, Z-RFC-P20
*) Rotate position marker until :
output signal is within output | | of )
characteristic = ot
: marking
LA (3: ] SW1s

402517290/13

Anderungen vorbehalten / subject to change 06/2017

Rotation Axis of Magnet aligned




RS>3a>v—h— HUREHEASE

novotechnik

1+1 Siedle Gruppe
Manual Position Markers for rotary sensors  gyess (mm)
EN/ERREE (mm)  AIBY - h—E T Y-\ J L ORI DR
Working distances (in mm) : disfance belween posiion marker and sensor housing
- A>H-T1- ZRFC-__
senes interface PO1/PO7 |PO2/ P08 |PO3 PO4 P16/P18 |P17/P19 |P20 P23 P30 P41/P47 |P43
v 5
- I~ v ¢ | § © 8 ¥
RFC-48014802 analog single
4853/4854/ —— 2= ——— ol e o015 jo..4 |0.15 [0..4 [0..45 [0..22 |o..4 |o..4 |0.15 |o..27 |o..27
48614862 “——"P-————
RFC-4801/4802f
4853/48544’:;——'——— ———"z:gg 0.15 Jo..4 |0.15 |0..4 lo.4 |0o.17 |04 o4 Jo.15 |0..23 |o..23
4861/4862 ~—— " ——"———
2 -4 _-___ ssl ) ) _ ) i ) i
RFC-48014802 "= == "——= 0 0..14 0..14 0..14 |0..14
6 _-___-___ analkgsingle
2 _-61_-___ CANsingle
RFCA8514852 -~ oo~~~ lenge 0722 [23..5 [07..22123..5 |0..45 (0..22 [23..5 23..5 [07..22(0..27 [0..27
2 _-A_- __ 1Olinksingke
-f_ _-__ _-___ analogred
8 _-_ _-___ anaogred
RFCAB514852 =~ "5~~~ CaN o, 03..18 [19..45 [03..18 [19..45 (0..4 |0..17 [19..45 |19.45 |03..18[0..23 [0..23
2 _-66_-___ CANred
RFCA8634864 & - - analogsingle (07_.22 [23..5 [07..22(23..5 |0..4 [0..22 [23..5 [23..5 |07..22(0..27 |0..27
q__-___-___ analogred.
RFC-48634864 == ———"——— 298 5" 103..18 [19..45 |03..18 [19..45 0..35 (0..17 [19..45 19..45 03..18 0..23 [0..23
RFA-4001 6 _-___-___ analogsingle |- . 1.3 [28..62 |- - 28..62 [28..62 |- - -
T
——"———"——— analog red.
RFA-4001 2 - magred. || - 06..26 |28..62 |- - 28..62 [28..62 | - -
RFD40214031 6 - __-___ analogsingle |- . 1..3  [28..62 (0..5 |0..28 [28..62[28..62 [12..27 |- 09..34
7 - __-___ analogred.
RFD-40214031 “p-—"———"——— 288 = |- . 06..26 [28..62 (0..45 [0..23 [28..62 28..62 [07...23 |- 05..29
6 _-___-___ anakgsingle
REX.6001 T _-___-___anaogred. |- 03..35 |- 03..350..25 |- 03..35 [03_.35 | - .
8 _-_ _-___ anabgred.
6 _-___-___ anakgsingle
RFE-3201 2 _-61_-___ CANsingle |- . 07..22 [23..5 |0..45 [0..22 [23..50 [23..50 [07..22 |- 0..27
2 _-65_-___ CANsingle
q__-___-___ analogred.
8 _-_ _-___ anaogred.
RFE-3201 S Tie T canr - . 03.18 [10..45/0..4 [0..17 [19..45 [19..45 [03..18 |- 0..23
2 _-66_-___ CANred

O—-AU—EYREKERS 2N - DO TN VT VTR EEL T RRRICTRDET .
BOAMECEREIDENER T,
Lateral offset of sensor and position marker causes an additional linearity error .
A concentric mounting has to be ensured.

SINBEOBMI=TIF(I5— (°)

Additional error [°] at radial displacement

. Z-RFC-P02/P04/P08/ |Z-RFC-P41/P43/P47 Z-RFC-P01/P03/P07/ |Z-RFC-P16/P18 Z-RFC-P17 /P19
SN-X A29-J1— P20/ P23 P30
series interface 05mm [Imm_ |2mm_[05mm |[I1mm _[2mm _|05mm [I1mm_|2mm_|05mm |[Imm_[2mm_|0,5mm [Imm |2mm
RFA40__ | -6__-___-___ * analogsingle *
RFC48 _|-2._-8__-___ SPI
RFD-40__ -2__-61_-__ _ CANSsingle 0,4 11 3,5 0,4 11 35 1,4 37 0,7 1,3 33 1,3 2,6
RFE-32__ |-2__-65_-___ CAN single
RFX-69__ -2 _-A__-___ IO-Link single
RFA-40__ -7__-___-___* analogred.*
RFC-48__ | ¢ « analogred. *
RFD-40__ } o——"———"——— " anaogred 25 6.4 23 45
-2__-62 CAN red.

RFE-32__ | T—="20-"——~
RFx-69__ | 2-—"66_-___  CANred 0,7 1,8 5,2 0,7 1,8 52 1,1 2 4,6

1 6__-___-___ analogsingle
RFX-69__ r-7__-___-___ analogred.

J-8__-___-___ analogred.
RFC48_ | 2—— 4o Ssi 04 o7 |22 - - -

2__-5 _-___ Incremental
)*REX%BRC_/ except REX
n ZfESEVEahE

RBEDRBARIE, FEIEEIZIHEANGBOET, FHT THEIE,
B 7Y R- TSR0 JRTIZIHOBRCHFZRIBETT.

HWE—-7>R-T5Z
T355-03111F KR EBEVVI B E52452-5

TEL : 050-3386-5880 FAX : 0493-81-4771 Mail : Inside-sales@b-plus-kk.jp

T618601

2018.6.07




